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VISCOSITY- TEMPERATURE RELAT
IONSHIP USING ASTM D341 -77
ESTIMATION OF THE COMPOSITI
ON REQUIRED TO GIVE A BLEND
OF SPECIFIED VISCOSITY

DIM VIS (5,2), C(5,2), D(5.2), E(5.2),
FG5.2), G6,2), HG.2), Z2(5.2), A
(5), B(5), T(5.2), V(5)

Vis (1, 1) =116
Vis(1,2) =13.1
Vis (2,1) =179
Vis(2,2) =35.6
Vis (3,1) =230
Vis (3,2) =19.9
Vis{4,1) =317
Vis (4,2) =24.2
Vis(5,1)=250 'TARGET VISCOSITY
T(1,1)=T(3.1) =T, 1) =273.15+40
T(2,1) —273. 15460
T1,2)=T@2,2)=T(3,2)=T(4,2) =
273.154+100

T (5,1) =273.15+40

FOR I=1 TO 5

FOR J=1 TO 2

C(,J) =EXP (—1. 14883—2. 65868 *

Vis (1, 1]))

D(,J) =EXP (—. 00381308 — 12. 5645 *

Vis (I, J))

E(1,J)=EXP (5. 46491 — 37. 6289 * Vis
1d))

F (1, J) =EXP (13. 0458 — 74. 6851 *
Vis (I1,1]))

G(1,J) —EXP (37. 4619 — 192. 643 % Vis
(1))

H(I,J) =EXP (80. 4945 — 400. 468 * Vis
(L)

NEXT J

NEXT 1
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FOR I=1 TO5

FOR J—1 To 2
Z@I)=Vis1-3)+7+C(1L,J)
D@J)+E@J)—F(1J)+G(J)—H
€J)

NEXT J

NEXT 1

V(5)=V(3)+V(4)

Zt=7(5,1)
Yt=LGT (LGT (Zt))

FOR I=1 TO 4

B(I) = (LGT(LGT(Z(,1)))—LGT (LGT(
(1,2))))/(LGT(T(1,2)) ~LGT(T (1, 1))
A()=B(1)*LGT(T (1-1))

(LGT(Z 1, 1))

NEXT 1

V{1)= ({1 —V(5)) * (A(2)—Y1t) B (2) +V(3)
* (A(3)—Yt) /B(3)+V(4)* (A(4)—Yt) /B(4)
—LGT (T(5,1)))/((A2=Yt) /B2)—(A )
—Yt) /B(1))

V(2)=1—V(1)—V(5)

!

Bx=Ax=Bb=Ab= 0

FOR J=1 TO 4

Bx@) =V (J)/B()

Bx=Bx+Bx(J)

NEXT J

Bb=Bb+ 1/Bx

FORI=1 TO 4
Ab=Ab+A(1)%V(1)/B(l)/Bx

NEXT I

PRINT

PRINT “V 1=":; SPA(2); V(1)%100;
SPA(2): “%”

PRINT “V 2 ="; SPA(2); V(2)*100 ;
SPAQ2) “%”

PRINT “V 3 AND V 4 ARE TO
BE 25% BY VOLUME EACH”
PRINT

P RINT

P RINT

PRINT “A="; SPA(2); Ab
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316 PRINT “B—" ;SPA(2); Bb
317 PRINT

318 PRINT

320 !

325 INPUT “TEMPERATURE=", Temp
327 PRINT “TEMPERATURE=":; SPA(2):

Temp

330 Z=10N(10N(Ab-Bb*LGT (Temp +273.
15)))

335 Vis=Z—-7—-EXP (-.7487—3. 295 %

(Z—.7)+.6119% (Z—.7)A2 —.3193%
(Z—.7)A3)
340 PRINT “VISCOSITY="; SPA(3); Vis
341 PRINT
342 PRINT
343 PRINT

345 INPUT “ADDITIONAL SOLUTION
WANTED, IF YES TYPE 1, IF
NO TYPE 2” , R

346 IF R—1 THEN GOTO 325

347 IF R=2 THEN STOP

350 END

(Program 12| output)

V 1 =27.0142808553 %

V 2 =22.985719145 %

V 3 AND V 4 ARE TO BE 25% BY VOL-
UME. EACH

A =8.69618507428
B=3.33211212556

TEMPERATURE =40
VISCOSITY =250. 000000098

TEMPERATURE =60
VISCOSITY =88. 8240016104

TEMPERATURE =80
VISCOSITY =239, 7863562056

TEMPERATURE =100
VISCOSITY =21. 065506913
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(program 2}
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! CALCULATING VISCOSITY INDEX

FROM KINEMATIC VISCOSITY AT
40 AND 100 T
ASTM D2270—79

INPUT “VISCOSITY AT 40 C=", U
INPUT “VISCOSITY AT 100 C=", Y
FIXED 3

PRINT “VISCOSITY AT 40C=";
SPA(2); U; SPA(2); “cst”

PRINT “VISCOSITY AT 100C=";
SPA(2); Y ; SPA(2); “cst”

PRINT

IF (2<=Y) AND
251

IF (2.2<=Y) AND (Y<3.8) THEN
260

IF (3.8<=Y) AND (Y<4.4) THEN
290

IF (4.4<=Y) AND (Y<5) THEN
320

IF (5<=Y) AND
350

IF (6.4<=Y) AND (Y« 7) THEN
380

IF (7<=Y) AND (Y<7.7) THEN
410

IF. (7.7<=Y) AND ( Y< 9) THEN
440

IF (9<=Y) AND (Y<12) THEN470
IF (12<=Y) AND (Y<15) THEN500
TF (15<=Y) AND (¥Y<18) THEN
530 )

IF (18<=Y) AND (Y<22) THEN560
IF (22<=Y) AND (Y<28) THEN
590

IF (28<=Y) AND (¥<40) THEN
620

IF (40<=Y) AND
650

IF (55<=Y) AND (Y<70) THEN
680

IF Y>=70 THEN 710

!

L=23094 %Y A 2 +.182 Y

(Y<2.2) THEN

(Y<6.4) THEN

(Y<55) THEN

— 11—

252
253
254
260
270
280
281
290
300
310
311
320
330
340
341
350
360
370
371
380
390
400

401 !

410
420
430
431
440
450
460
461
470
480
490
491
500
510
520
521
530
540
550
551
560
570
580
581
590

H=3827%YA 2 + 1.632%Y —181
GOTO 750

!
L=114673% YA 2+ 1.7576% Y —.109
H=84155%YA 2 + 1.5521% Y +.077
GOTO 750

L —3.38095% YA 2-—15.4952% Y +33. 196
H=_78571%YAN2+1.7929%Y —. 183
GOTO 750

L=25%YA2-7.2143% Y +13.812
H=_82143%YA2-+1.5679%Y +. 119
GOTO 750 '

L=.101%YA2+16.635%Y —45. 469
H=_04985% Y A2+9.1613 %Y —18. 557
GOTO 750

1.—3.35714 %k Y A2—23. 5643 % Y +78. 466
H =.22619% Y A2+47 .7369 * Y —16. 656
GOTO 750

L=.01191%YA2+21.475% Y —72.87
H=.79762%YA2—_.7321%Y+14.610
GOTO 750

L =.41858 * Y A 2-+16. 1558 *¥Y —56. 04
H=,05794 % Y A 2+10. 5156 % Y —28. 24
GOTO 750

L=.88779% Y N\2+7.5527 %Y —16.6
H=_26665%YA2+6.7015%Y—10.81
GOTO 750

!

L=.76720%YA2+10.7972%Y —38 18
H=_20073% Y A2+8.4658 * Y —22. 49
GOTO 750
!

L= 97305YAN5.3135 %« Y —2.2

H=.28889*% YAZ+5 9741%Y—4,93
GOTO 750

!

L =.97256 %k YA2+5,25%Y — 98
H=_ 24504 % YA2+7.416% Y —16,73
GOTO 750

!

L=.91413% YA2-+7.4759 % Y —21. 82
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600 » =.20323% YA 2+9.1267 %Y —34. 23
610 GOTO 750
611 !

620 L=.87031%YA2+9. 7157 %Y —50.77

630 H=.18411%YA2+10.1015%Y —46.75

640 GOTO 750

641 !

650 L—.84703%YA2-+12.6752%Y—133.31

660 H=—.17029% YA2-+11.4866 %Y —80.62

670 GOTO 750

671 !

680 L =.85921%YA2-+11.1009%Y—83.19

690 H=.1713%YA2-+11.3680*%Y—76.%H

700 GOTO 750

701 !

710 L—.83531%YA2+14.6731% Y —216.246

720 H=. 1684 % Y A2-+11.8493% Y —96. 947

730 !

750 IF U>=H THEN 800

760 N=(LGT #H)—LGT (U))/LGT(Y)

770  Vi= (10AN—1)/. 00715+ 100

771 FIXED 1

780 PRINT “VISCOSITY INDEX=";
SPA(2); Vi

790 GOTO 811

800 Vi— (L —U)/(@L—H) %100

801 FIXED 1

810 PRINT “VISCOSITY INDEX=";

SPA(2); Vi
811 PRINT
812 PRINT

820 INPUT “ADDITIONAL SOLUTION
WANTED, IF YES TYPE 1, IF NO
TYPE 2”,R

830 IF R=1 THEN 30

840 IF R—2 THEN STOP

850 END

[program 2 2] output)

VISCOSITY AT 40 C=6.894 cst
VISCOSITY AT 100 C=2,100cst
VISCOSTIY INDEX=100.0

VISCOSITY AT 40 C=5.613 cst
VISCOSITY AT 100 C=2.150cst
VISCOSITY INDEX=249.9

VISCOSITY AT 40C=10.070 cst
VISCOSITY AT 100C=2.310cst

VISCOSITY INDEX=.0
VISCOSITY AT 40 C—=12.760 cst
VISCOSITY AT 100 C—=4.350cst
VISCOSITY INDEX=299.8
VISCOSITY AT 40 C=44.440 cst
VISCOSITY AT 100 C=6.690 cst
VISCOS”TY INDEX=103.0
VISCOSITY AT 40 C=125.000 cst
VISCOSITY AT 100 C—=8.700 cst
VISCOSITY INDEX=—18.1
VI”SCOSITY AT 40 C=115. 100 cst
VISCOSITY AT 100 C=9.990c¢st
VISCOSITY INDEX=50.0
VISCOSITY AT 40 C=211.900cst
VISCOSITY AT 100 C=32.500 cst
VISCOITY INDEX=199.0
VISCOSITY AT 40 C—1980.000 cst
VISCOSITY AT 100 C=51.600cst
VISCOSITY INDEX=44.0
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